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§{Öm ¨sZ¡P44 qsZ¡P59

•0���'4���6(§{(3!#�Ã9Ù�6)

if(3'-){

.F
}

•ð�áÅ�0�­7 4FL;G(���
if (tenki == HARE) {

drive();

}
3↑Ø�g}-$�S")-%-5

§{�true(®��)'4 ê9��

^�g}%Ø�g})
i(§{�«5ë"%
�) ê9¡�

jyU�� ¨sZ¡P46 qsZ¡P62

4

�)* 6"��/�> �@ a�5�+�9
a < 5 a < 5 a*5��0���a*5A? false
a <= 5 a ≦ 5 a*5�� true
a > 5 a > 5 a*5��7�� false
a >= 5 a ≧ 5 a*5�2 true
a == 5 a = 5 a*5%;�� true
a != 5 a ≠ 5 a*5%;�	�� false



==%=)R�

•==(ñêU��)*�Ú%TÚ)¼�Á���½,6
(Á��7+true�Á��'�7+false)

•System.out.println(a==10); 
•a � 5 )%����6%false%Ï��76

•=(·ÆU��)*��Ú)Ùª(TÚ)¼9aÈ�6
•a = 10;
•���6% a)¼�10('6
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if( a >= 3       ) {
System.out.println(“a*3Q¤”);

}

if×%jyU��

if( x == 5       ) {
System.out.println(“x*5%Á��”);

}

if( score != 10  ) {
System.out.println(“score*10$*'�”);

} 6

3��6iR�
if ( count >= 10 ) ; {

System.out.println("�¯OK");
}
if(�)×)×�;).%\��76)$�System...*¦(���76�

if ( count >= 10 ) {
System.out.println("�¯OK");
if ( count < 10 ) {

System.out.println("�¯Ð´");
}

}
0�count >= 10 )%�$��4(0��count < 10 '4
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•2")§{�)ìÜ�«5ë"%�( ê9��
•2")§{�)i(&&(��)9Æ7#n�
•a�70�280A?)%�true      a >= 70 && a < 80

•2")§{�)£'�%0SÜ�«5ë"%�( ê9��
•2")§{�)i(||(�
�)9Æ7#n�
•a�0A?- *100�2)%�true    a < 0 || a >= 100
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a && b a �� b

a%b)ìÜ�«5ë"
a >= 10 && a < 20
a*10Q¤20ßÞ

a || b a �
� b
a�b)£'�%0SÜ�«5ë"

a < 0 || a >= 20
a*0ßÞ- *20Q¤

if( b > 3 && b < 7            ) {
System.out.println(“b*335¸��735¢��”);
}

if×%jyU��

if( y <= 0 || y >= 5          ) {
System.out.println(“y*0QW- *5Q¤”);
}
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)Êª ¨sZ¡P47

• å59p/6U��(%)9��

• xª�2$f5°76→2$f6%å5�0%Á��
• x�xª'4 x % 2 == 0 

• lª�2$f5°7'�→2$f6%å5�0$'�
• x�lª'4 x % 2 != 0    ( x % 2 == 1     $0Y)

• 

)Êª�

$f5°76→

$f6%å5�0
• x�3)Êª'4 x % 3 == 0
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xª,lª)Ï�
• x)¼�xª'4
xª��lª'4
lª�%Ï�

if (x % 2 == 0) { // 0�2$f! å5�0)%�
System.out.println("xª");

}

if (x % 2 != 0) { //0�2$f! å5�0$'�%�
System.out.println("lª");

}
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•0���'4���6���$'�7+���6
if(3'-){

.F1

} else {
.F2

}
•ð�0�­7 4FL;G(���$'�7+Ý9Ä0�

if (tenki == HARE) {
drive();

} else {
read();

} 13
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xª,lª)Ï�9if-else$
•x)¼�xª'4
xª��lª'4
lª�%Ï�

•¬ª*xª�lª��µ��'�)$�xª$'�%�9
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if (x % 2 == 0) { 

System.out.println(x+”*xª");

} else { 

System.out.println(x+“*lª");

} 14

Æî�7 ¼(V�#xª/lª9Ï�
HO@<>Eà�PK02p1 >LAà�InputNum

import java.util.*;

public class InputNum {

public static void main(String [] args){

Scanner sc = new Scanner(System.in);

System.out.print(“ª¼9Æî�”);

int x = sc.nextInt();

}

}
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• ª¼9Æî� )×�)~(=�CM
9�8�#�Ìc$ª¼9Æî��
o�í)G4)ª�*��� ~Æ
î� 0)	

• lª)¼%xª)¼9ìÜÆî��
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if ( §{�1 ) {
 ê1 

} else if ( §{�2 ) {
 ê2

} else if …
… {

} else if ( §{�n ) {
 ên 

} else {
 ên+1

}

§{1  ê1

§{2

§{n

true

false

false

 ê2

 ên

 ên+1

false

true

true
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x
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P52�P53)HO?LK9².�8�#�Í
Ë¿HO?LK9�- *qsZ¡P64)
Æ¥íË¿HO?LK9�!#.3��

Ò)¼�®)¼�0�9Ï��6
•x)¼�Ò)¼'4
x(Ùª)¼)*Ò)¼��0'4
BO��®
)¼'4
 x(Ùª)¼)*®)¼�Ï�

if (x < 0) { 

System.out.println(x+“*Ò)¼");

} else if(x == 0){

System.out.println(x+“*BO");

} else {

System.out.println(x+“*®)¼");

}
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